x o)

Fy=lx-1]+1° I

SH
=

0 %




2.

4 F(x) =l x =2 +1 | ol Hisked f(-1) - £(3) &

D 1 ® 2 3 3 @ 4



st?

T O =% JLA O 2 ; =
[®) l L .?—

3.




(x) =l4x+a|+b = x=3 4 ], &g -2 & 7. ol

, b o] Ztell tiste] b - a 9 gk otoleh



sholat,

:’7_

lx+11-1x-3]°] %
O
=

M —m °] 3%

5]

oty

F-

C
=



6.

& g3t o] §
F1O%0k) ©] B2,

5 f(x) = x5 —5x2 +8x =2 oA f(k) =1
f2 fo f’f?’ f20f,f" fnl of)




I.y=2Ix+1

I.

M =2x+1

I |y = 20 + 1

@ I I @ I,1 ® I,II

I



Fr2)x|+yl=49 THZR FER] =9 Ho| S oozt

Qe
[ =



<

Fry=l—1+k—-2/+x-3 9 HEFEm, 1] x o P&
nolgt &, A4 m, n 2 F mn 2] FS Fshoiat,

e =
-



o

3 3 @ 4 B 5

® 2



